ADERENRE L2HE H o 3k TUSREE / HER

PVZRﬁﬁJ E E{E"ﬁ % IH-H- ﬁ PV2R Series high pressure vane pumps with lower noise

= eIt

PVREJISERZESMH AREXL DA LMFES R, ZRDEFESSEASNERF"RAE LB E AR &3 E- R =
. BRGHEIE, ek, MRS, BER. B, AIRBFSHLA. ZRAETL. REERRTHSBREEERRE
5h, ERZMTRERIIREEZRT, WHEEMANMRE=RERER, RAKEAR, IMzHERATFHKR. SRR, BENR. T
BHHL. 2@iEmmEm.

Products introduction

PV 2R series high pressure vane pumps with lower noise are the new developed products with the integration of the advantages of similar products at home and
aboard in recent years, with the features of rational structure, high performance, high efficiency, lower noise, small pulsation, strong reliability, ete. The pumps provide
extreme convenience for users and meet the substitution requirements for similar products with full specifications, national and international standard mounting
dimensions, as well as derivative series mounting dimensions, making the pumps widely applied in the fields of machine tool industry, plastic machinery, forging
machinery, engineering machinery, transportation machinery. etc.

B & Single Pumps

&£ 8 Model Descriptions

PV2R1 ‘ 1 = =g —1 R —A —A
i
MAE THRIS LR HEE
FRR S | Mode of mij wR@X | ek | JEAE H O LONaTHS
Vane pumps' | subsidiary Nominal Mounting type | Shaft extension rotuti Outlet position Inlet position
codes series displacement el iUl
(M EREEE) -
ra | ARG e | owen | D
,23,25,28, " (G HERRAE) A: EA(BTHE) B-"Fy? :
o 1 kﬁﬁ& (from shaft end) R. B. L e
gugepm | 1:Majorshal | R Clockwise EHOAgERER) | ©
- standard direction LER
26,33,41.,47, . : : (from shaft end)
PUZR2 53506575 | | 20 N iﬁf:;;mm A: Upper(Standard) | (from shaft end)
ange mounting ; ;
2: Minor shaft R, B, L A Upresiindad)
LiZE AR (Outlet port A is set B: B.}mom
(%) as upper.) R: Right
PV2R 3 52,60,66,76,85,94 L:Counterclockwise L: Left
116,125,136,153 direction
(Left rotation)

RIARE 042



.E KEDA
HYDRAULIC

PV2R ﬁ?“ E-'?E {& EEE IH-H ﬁ PV2R Series high pressure vane pumps with lower noise

H KE4% Technical parameters

EEEMAES Max pressure SRR
8 3 it HEE FHEIES KES R E Allowen(jﬂ::;}i:;g speed ﬁ,i
me d-irs};:zm::;[ Working oil of Petroleum series | Water-based synthetic hydraulic fluid i W‘:fht
Model | Vol | BERRER| e | wmame WEKZSR AMEENEE | s mE |
prr):;:;rﬂfﬂ Anti-wear oil | Common oil Ann't”g'?:;:mr ciiuclrpfl;ﬁ;u;?];cl?d Max Mini
PV2R1-6 6.1
PVZR1-8 8.1
PVZR1-10 10.2
PV2ZR1-12 12.3
PVZR1-14 14.0 1800
PV2R1-17 16.2 21 17.5 16 16 16 g} 750 8
PV2R1-19 18.3
PV2R1-23 225
PV2R1-25 25 1
PV2R1-28 276
PV2R1-31 30.6
PV2R2-26 25.4
PV2R2-33 32.2
PV2R2-41 405
z:iizz'; ::'i 21 175 14 16 14 1800 | goo 16
PV2R2-59 58.2 (1200)
PV2R2-65 64.1
PV2R2-75* 74.5
PV2R3-52 51.5
PV2R3-60 62.9
PV2R3-66 67.0
PV2R3-76 79.2 21 17.5
PV2R3-85 84.5 ™ 1800 2
PV2R3-94 93.8 14 14 (1200) 600
PV2R3-116 113.2
PV2R3-125 122.8 — % 1
PV2R3-136  135.8 : —
PV2R3-153 152.8 14 #34

i

1. DAFHE “67 . “8" ], #Bid16MpalEfRT, #FEFIETF 1450r/min.

2. {EfkE. &MEENER, BEi5ERHI#E1200r / min.

3. M FERERERSNGES, ZNITIEEEE1000r / min, &@& LIEEE12~14MPa.

4, HHPV2R2-WERHR R, H#bAHPVIRI-WIH2MEE MM, Rk 10mm, RERTHERE, EFHHEITE.
5. SEFHTHEEMLTE . FRHE (mUr) XSEHEE (dminy XT{EESH (MPa) /48000, i+EL5RB{THKW,

Notes:

1. The rotation speed shall not be less than 1430r/min for the pumps with the nominal displacement of 6 ml/r or 8 ml/r working under the pressure exceeding 16Mpa.

2. The highest rotation speed shall be limited within 1200r/min, while applying with water-based synthetic hydraulic fluids.

3. It is recommended to work with rotation speed of 1000r/min and maximum pressure of 12-14Mpa on the occasion where lower noise is strictly required.

4. Those pumps with the marks * belong to the extension specification of PV2ZR2-W group. Those pumps with the marks # belong to the extension specification of
PVZR3-W group. These two groups pump casing are 10mm longer than usual specification for special order.

5. The approximate caleulation formula for driving power is as follows: the displacement of pump(mL/r) X the rotation speed of motor{r/min) * the working pressure
(Mpa) / 49000. The unit for the final calculation result is KW,

FHABE 043



A EREN RS LIRS # < 44 TUREE / HATR

PVZR%?‘J %E{&"ﬁ% n'I-H- E PV2R Series high pressure vane pumps with lower noise

HERRRERRT

Shape and installation dimensions

HZRER, PV2RI-*-F-1-RAA
Flange mounting: PV2R1-* -F-1-RAA

58 .25 36
| |
t | 1 }J_‘
T o
@ E i Z_E.
w =, — |
2 (IR
= 1 |1 o
L i
Tt
- 3
1) '—\ /_}-
174
228 @16
mAQ | TrE 7
Inlet ll't Outlet | —
_ﬂj B\
1
II 4
‘\ | T——m 3
B — | e e | R
\\ / | A
II a
H?’g | i)
4-M10x18 MR
B
Hipm ' d b h #iE
Shaft extension Remarks
1 219.05 00 | 4755 | 21.24 J4 Maﬁf}'ﬁaﬁ‘
2 215.88 50s | 3.975" | 17.68 51 Mi,ﬂ,‘fﬂ,an

RIAHEE 044



KEDA
HYDRAULIC

B

PVZR ﬁ?‘l EE {E E:E: IH'FI- E PV2R Series high pressure vane pumps with lower noise

SMEIRRRERRT

Shape and installation dimensions

EZRERB: PVIR2-%-F-1-RAA
Flange mounting: PV2R2-*-F-1-RAA

| -fﬁj\\zl | b
b I\%_’//JL ,fl ,L/
\ iy
\[\a.::;::f//j/
N | 7
, 174 .

A

RHOAHIE 045

[ |
= g
S B
v S
5| 4 _
1 S\ —_— "
215
@36(e40) @20
mAD | Hemo | 9
Inlet | Outlet | —| =
. \ L £
_E ! 5 llll |
[ A@_"‘ «@7 | hlI i,
I|' Yl I', @i L "
| i | N 3
| ,/ \\I I|I I :D
& f \ / 1 ® -
e 1\ T e (I
| sl 2 i &
| |
LRl e/le X
— >f | iy f / -
. ! rl'l .'I A
4-M10x18 85 I.'I 22 I,"I I M
WiRRER d h =iE
Shaft extension Remarks
X
1 ©25.4 505 28185+ | Major shaft
2 22223 -g.m 25.01 .g‘w Mil:gjﬁlaﬁ




A EREN RS E2IRE ¥ o 34 TUSERE / HER

PVZR%?“%E"EEE IH'J'JI- E PV2R Series high pressure vane pumps with lower noise

SMEIRBRRERERT

Shape and installation dimensions

EEREE: PVIR3-*-F-1-RAA
Flange mounting: PV2R3-*-F-1-RAA

92 34 63

- R [ / %
i E =
CD Il‘. I\.“E’J/zl/lg )-'l E;: " o - = > | S ]
| _
\&?___f% _E .
— ra
§ 213 N 266
& 50 225

2127 s

C
1| & & %{{\

ﬂ;’%{r‘ =L IN

_ W_\A-wons_

RAWE 046



'Fi KEDA
HYDRAULIC

PVZR%E’ E?E{Eni% n'I-H E PV2R Series high pressure vane pumps with lower noise

WEEM f R

KRFIEHRE WM ANPVIRAS|$R. HEBEERER—FIKATMAE, RE—HLREH O A L6 e Ak e
A

REMADRMRTIAS, FIRESSHAE. WRNEHIFED _SRMFELZM.
Double vane pumps

The double vane pumps are composed with two single PV2R series pumps, which were driving by one shaft and were assembled in parallel in one pump casing
with one common inlet port and two outlet ports that conneeting to two individual oil eircuits.
A variety of flows can be obtained by different combination of the two pumps. The power of double vane pumps is the power sum ol two single vane pumps.

PV2R 13 = =4 =F =4 —R —A —A —A
FRue | ERE SHiER == -
HBR | Codeor | AMHR | AKHE | RREX | g@pt | e wHOhE | MAORE | BADGE
i\';gdeff Subﬂdi”ies’:c?{erlend pHmp Sggﬂle g purip M(:un:ng Shaft Direction of Cover end pump  |Shaft end pump| Inlet position
series | 'S(pmafj"r})em ’SFH?E?T)C"I ¥p cxtension rotation outlet position outlet position
(R%iﬁ'ﬁﬁ)n )
E: £ E7745 ()
s F.EJ‘:J"J'%“
- G: N 145
10,12, 26,33, HE?’;,@
PVIR 12 14,17, 41,47, § Hif s
19, 23. 53, 59, (MG E) %fﬂf;:ﬁ ic;”“),,
g? 28, 65, 3 RIABIEEZTE | (Standard)
(B HEFRAE) F: Upper right 45°
from shaft end) | G: Botlom right 43° | A: 7 (5fiE) | A: EJ5 (BRHE)
;{‘CT:);k:ei::n ) H: Bottom left 45° | $ligmsR &Y B: A
- R el e HOE | REH
5 L | et [ prem | WEALA |LER
6, 8. iEitgedgs) | | Majorsha (Right rotation iy
52, 60, . R:
PVZR 13 917, 85 04, F: mande. || et LEEE A:Upper | A:Upper
19, 23. 116. 125 Flange A: Upper (standard) (standard) (standard)
25 28, y e Ze 25 3 B: Bottom outlet position | B: Bottom
31 136, 153, mounting - Minor L)ﬁﬂgf;ﬁﬁrﬂ R: Right of shaft end R: Right
shaft iy | 22 pump L: Left
L:Counterclockwisel — | shall be set as
Direction E: E_tjﬂa: (k7 | upper
(Left rotation) Ei E%gﬁ )
S5 52, 60, H: T 445"
41 47, 66, 76, (from shaft end)
PV2R 23 53 50, 83, 94, E: Upper left 45"
B | B i
sl F: Upper right 45"
G: Bottom right 45"
H: Bottom left 45°

A E 047



APERENRE LSS H o 4

TUEE / KRR

PVZR%?“ %E{E"ﬁ% n'I-H- E PV2R Series high pressure vane pumps with lower noise

#AEH Technical parameters

mEEAES Max pressure S EtE
RIS 3 i e | Allowed driving speed
F:EE HMEHO Nominal o AmELER ‘ ‘ J‘k&.:..ﬁﬁ,& o & i) ﬁ.g
Eilg= Outlat displacement Working oil of Petroleum series Water-based synthetic hydraulic fluid Weight
Model e I - 3 ' . - I (kg)
min | RERRER | gmamn | wammn | WETKZ=B BRERISE) g% | 8
articu dr: Anti-wear oil| Common oil Anti-wear water | Sul pl osuccinic Max Mirii
pressure oil -glyco ester fatty of acid |
-6
-8
-10
-12
14 14 1800 | 600
f=9
g -14
%5
i 5
o -AF
z
o
PV2R1 -19
-23
p 12 22.5
R
& -25
21 17.5 16 {1200}
-28
-31
-26
-33
f="
g
hickon 41
i &
®E
L5
« -47
16 16 750
PV2R2
-53
-59
-65
iE:

1. ERKE. SRAEARN. BSEERREIE1200r/ min.

2. WFERERERENGES, B TEHREEI000r / min, BELEEHE12-14MPa,

Notes:

1. The highest rotation speed shall be limited within 1200r/min, while adopting water-based synthetic hydraulic fluids.

2. It is recommended to work with rotation speed of 1000r/min and maximum pressure of 12-14Mpa on the occasion where lower noise is strictly
required.

RHARE 048



L~

KEDA

HYDRAULIC

PV2 Rﬁ yll EE{E"iiE: "'I'H' E PV2R Series high pressure vane pumps with lower noise

#HAEH¥ Technical parameters

e
B
Model

mMEHO
Qutlet

LFRHEE
Nominal
displacement
(ml/r)

75 I PR R
Particular
pressure oil

HwaEMEH Max pressure
EMEAELEMR '

Working oil of Petroleum series

U

Anti-wear oil

B E

Common oil

I R
Water-based synthetic hydraulic fluid

fif EEf Kk 2
Anti-wear water
~glyco

TRELASAS AAER AR

Sul phosuccinic
ester fatty of acid

5t i 45 iR
Allowed driving speed
(r /min)

B85
Max

=411
Mini

EE
Weight

(kg)

PV2R13

Sk B

Cove end pump

PV2R1

-6

Bearing pump

PV2R3

-116

-125

-136

-153

21

17.5

16

16

14

14

16

14

1800

(1200)

1200

750

600

37.5

sF.
I )

1. EAKE. SARERR, &SHEMRSI7E1200r / min.
2, MFFERERERERHE, BWTEFEAE1000r / min, HETEEHE12-14MPa.

MNotes:

1. The highest rotation speed shall be limited within 1200r/min, while adopting water-based synthetic hydraulic fluids.
2. It is recommended to work with rotation speed of 1000r/min and maximum pressure of 12-14Mpa on the occasion where lower noise is strictly

required.

ROABE 049



ANEREHE E2WE Hp o TUEE / HER

PVZRg;‘]%E‘[&E‘E‘H’Pf ﬁ PV2R Series high pressure vane pumps with lower noise

FAE% Technical parameters

me EMAES Max pressure S iR
o [ R Bl IEM . KE LR plove o= g
E= Gutist displacernent Working oil of Petroleum scries Water-based synthetic hydraulic fluid Weight
utle >
Maodel ; % kg)
(min) | SEREER e | | FEMKZ ZE | SREEURE g (kg
Particular ﬁﬁrﬁﬁkﬁ -E]E'EEE Anti-wear water | Sul phosuccinic B &{E
: Anti-wear oil | Common oil : Max Mini
pressure oil _ -glyco ester fatty of acid
-26
-33
g -41
a2
o -47
g
o
PVZR2 -53 1800
-59
-65
PV2R23 =Rl
-60 21 17.5 14 16 14 600 45
-66
EQ -76
E 2 | (1200)
an
;ﬁ_g -85
&
-94
PV2R3
-116
-125
17.5 16 14 1200
136
153
*

1. EAKE. SRRIEARR. RefERFIZE1200r / min,

2, WFFEEERIERFNGS, B TIERIEZE1000r / min, &5 LEEHE12-14MPa.

Notes:

1. The highest rotation speed shall be limited within 1 200r/min, while adopting water-based synthetic hydraulic fluids.

2, It is recommended to work with rotation speed of 1000r/min and maximum pressure of 12-14Mpa on the occasion where lower noise is stricily

required.

RHXEE 050



KEDA
HYDRAULIC

i

PV2R ﬁ;‘l -I%-E{E "iiE: IH'H' ﬁ PV2R Series high pressure vane pumps with lower noise

SHEIR RRERERT

Shape and installation dimensions

HERER. PVIRI2-*/*-F-1-REAA
Flange mounting: PV2R12-*/*-F-1-REAA

K

View arrow K

174
R //__:||af35$\
1ol O
\_T /P
Mo |
e

View arrow K

RHARE 051

145

| 118 81 | 29 47
_,_'_| / \[] ‘
<4 | & | J‘L
I~ ‘H:_ 32
P~ - =
& & ‘
i _1> SR = AN 1 ]
1/ t
i J[I:_ T
i :
‘ 215
@ 16 @50 220
| o P N= T
| Outlet | Iniet Outiet | FL 9
{ | |
i / il L \
g e L
| _’: [ 681 fq@r ||
| { A '@J'u 'q}_ -
|I| /Al\\ | } A{Ille -
| R W | 0 w 2
SN | '\\t / f" N AR
M R 3
R ||'19' |III 7/ | & ‘ %_ &
.-’:, - qi @ s
1 B T TN
& & I il [
I
T ‘ 43 ‘ 22 j 4-M10x18
018 7 3 . 4 &t
Shaft extension Remarks
1 @254 505 28.18 5 s Maﬁrﬁaﬂ
2 025233 | 250128 | B




AhETREN MRS LIRS H < 44

TUEE / HRR

PVZRE;'] E E{EE :E'IH'J"II' E PV2R Series high pressure vane pumps with lower noise

SPEIRRRERRT

Shape and installation dimensions

ZEERER . PVIRIZ-*/*-F-1-RAAA
Flange mounting: PV2R13-*/*-F-1-RAAA

90.5

4

N—»_—7

Ki

View arrow K

4-M16x28

62

125 100 |34 63
| | ‘
} [ I
' | h
K@ 0 [ I y ‘ 40
View arrow K N _E
2 N ]
B Al _ B 1 ]
B . E
~
\ . _ i 3
2-@18
354
216 @70 @25
I 1] = ——e
A Ho
Iu'll %ﬂtg H'\[l?nlelt: Outlet \"l, I e
# - |
Yo 4mexs _—_}/ \ @ h'-ﬁﬁ_ - W
=] I |' . _@_‘
= T He II| ; Pt ‘ ™ ; ||II T ! QE
' 8 1 A N p—
—l |\ / J 8
! | | | =
Nt s | ;

4-M10x19

RARE 052




“ KEDA
HYDRAULIC

PVZR& §|l ﬁE‘EE% n'I'J"lL ﬁ PV2R Series high pressure vane pumps with lower noise

HEIRRRERRT

Shape and installation dimensions

FERER. PVIR23-*/*-F-1-REAA
Flange mounting: PV2R23-*/*-F-1-REAA

100 34 | 63

N |_L
10 } 40
8 ol B
=i H l
1
-3
N ’
’ -4 s
378
@20 @75 825
[mwo  \man sen)
| Outlet Illl Inlet Outlet lll'l F ‘ 8
] ) ||
D I|II /_l“— \ -
——=f 2l |
'n 3
g _1;] .' — o &
-| B — "% &
S 16
4-M10x18

4-M16x28

View arrow K

RHABE 053




ADETRENME E2RE b o 24

% E ﬁ ﬁ gﬂ ‘H: Flange components

TUEE / HRR

RREFERST Installation sizes

F3-A(RciZ 4 2Y)
F3:-A(Rc thread type)

F%-B(IRHERL)
F *-B(Welding type)

[
d J
E
N
- o OofHE i .
// ; \\ £ O-type ring e Oﬁ”‘ .
__A_é_-\ i @ \ O-type ring
I| _- | .
I|I| T'j \ \ S {/
i L1 A ﬁ.
ol w : _Ifl _\. T | = i
\ W ] - = - o= =] =
| - { e
| e f 7
ho )_!_ i i — /7);
oy HEE=S ey
f AN A58 A A B ;
' —— " :ﬁ%ﬁ.
4- o HiBA 4-PI7 FIEST . K
4- ¢ H hole 4-inner hexagon screw 4-_1*] ARBI L
4-inner hexagon screw
_— ﬁg R mm WAk |
| = 5 3 Sizes mm OfIE ®ET | hE M RRREED
Flange |. - O-typering,  inner Th'fh‘““'"'?' Corresponding pumps
models "] C | D | E | F | H | 4 |K| L | N[ Q| T |cBssersg Nerason | eomncescr
specifications | - screw N-m
PV 2R1H410
FO4 A 12 |—| — PV 2R12. PV 2R13
——— 1/2" | 43 | 59.0 | 175 | 381 | 9.0 | 280 | M 13 |21.2x2.65 M8x30 | 35 EERUO
2 > * - : = =2 PV2ZRI port
FO4-B E— T 29 5 PV. 2R12, PV2R13 cover
end pump porl
F‘\JI’ 2R2. PV 2R12
0 | i A
3/4™ | 532|716 | 222 | 476 | 11.2 | 30.0 | 11 19 | 30x3.55 | M10x30 | 68.5 PVIR2. PVIR12 shafi end
FO6-B — | 12 | 285 | pump port
. = he L L | PV2R23 :nd pump port
FO8-A i B
1 1" |58.0| 764 | 262 | 524 | 11.2 | 30.0 | 16 . 26 [34.5%3.55 M10x35 | 68.5 lf\‘fgi’??‘?if\ﬂ
FO8-B | | 14 | 345 | [ e
PV 2R2IEAO
F10-A g — — PV 2R34 0. PV 2R13
1-1/4"| 57.7 | 84.7 | 30.2 | 58.7 | 12.0 | 40.0 | 16 | 32 | 40x3.55  M10x45 | 68.5 E;’zi??%%ﬁﬁﬁﬂﬂ s
mie
F10-B R 16 43.0 PV2R3 port, PVIR13,
PW2R23 shaft end pump port
F12-A 1-1/2™ |
1-4/2*| 70.0 | 96.0 | 35.7 | 69.9 | 13.8 | 40.0 [18 - 38 | 50x355 —— | 118
F12-B — 18 491
F16-A | 27 PV 2R3, PV 2R12
2" | 87.0(105.0| 42,9 | 77.8 | 13.8 | 40.0 | 18 T 51 | 65x3.55 | M12x45 | 118 | O
F16-B | — [ 20 | 610 PV2R3, PV2R12 inlet
F20-A 212 — —
2-1/2"| 96.0 | 116.0 | 50.8 A 88.9 | 13.8 | 45.0 | 18 : T 63 | 75x3.55 — | 118 e
F20-B 22 77A
F24-A 3 | — — PV 2R13. PV 2R23
- -1 37 [121.0{141.4 | 61.9 | 106.4 | 17.0 | 45.0 | 17 | = 76 | 85x3.55 | M16x45 | 287 WAL
F24-B — | 25 90.0 PV2R13. PV2R23 inlet
P28 A | o1i2° 136.0| 1550 | 69.9 | 1207 | 17.0 | 50.0 | 17 sl —| — o
-1/27 . A ¥ j i i T 89 | 100x3.5 287 -
F28-B — | 28 | 1028 X M16x50
FozA 4”7 1145.0{162.0| 77.8 [ 130.2| 17.0 | 50.0 (17 i i
F32-B ’ ’ ’ ’ ’ ’ 28 | 1155 102 | Mbxss M16x50 a7

RHARE 054



